? (E 37h)

B
|
™

HE
ol

RS

—_

oA

2]

7N x 708 744 y
@ 7t Ao|7t 6em , AE 2] Aol7t xem , 9 AAZFR 9] Ho]

291 2%

ot 7iefl 200

)

@

yem?

® 25% 9] AFE xg o E9]



y=-2x+3 92| Ho] ohd

@ (1,1)
® (-2,7)

2AL9

A

® (2,-1)



® y=4x-15

@ y=4x+10

D y=4x-10

@ vy

® y=2x-20

4x + 15






y=ax+b o] IHZAA x AHo] 2,y HHo| 6
of thsto] a - b o] F2?

Q]
=

o,






® 2

@ 1



8. the a@m7} oW ARGy = ax+b 9 L= ), 0] L9
yl\

2 - - -

O
TN
M—_—_
Ry

®
!
\
©)
W | N



y

@ 71&717F -2 o]t

o] 1 oJtt.

I

®yA

Zojrt,

ke
® xAd#o] -

olt.

1
2



off =

i

Fy=ax+b (F, b+ 0)° 17

;01_
T0°

mﬂ
R
ol
Al
H|

2

© a<0 9]

st

o

bx+a %™

® ATy

910l 4 whde,

=
=

y=—axty

DO 0.6 ®06 o6 66 0o



= x 9 el 3

5
y:ax—|—694:lﬂﬂ

shelat.

?‘



DO y=-x+4

@ y=x+2



@ ay=bx+cAHa%0 b#0,c=0%A7
© ay=bx+colXa=0,b=+0,
©® ay=bx+cAMa#0 b=0,c#0% FF

@ ay=bx+coNXa=0b=0¢c=09%7

@ ay=bx+cOoAM a0, bc=02% H

YEE 4l



@ 3 B 5

A 1



2) =14 & W, £(-3) +2£(1)



|



17 ge aas ol =44y = 245
4
S IELERELLE SRR
ABC O] §olg alofat.

By



18.

AGS y = mx 4+ n O] THZI} hg 1Y
Tt Zol Al 1, 3, 4AkEEE Adtha & o,
y =nx+m o] T IL7} 22| o= AFRHS

ot

O Al 1AHEH @ A 2AHEH
® A 3AHEH @ A AAMEH

(B3 RE AIEHS 2t}

YA
y=mz+n




19.

71&717F 4011

At o) ke

(0, -8)=

Fato] a}.

Q-



20.

AAFE4 y = 3x+ 6] T} yZ 9ol BT, y = - &

o] et x % oA Wt HAS
X109
1.
® y=2x+6 @ y=-2x+6

1
@y:—§x+6 ®y=-2x+1

J#nE sk 43

® y=3x-2

3
S}

=

x+1

%ol



